
1orjinautomotive.com  S
U

B
A

R
U



2

      SUBARU
 800 - XT - LEONE II (1984-1990)

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 SU003-L 01270 Tie rod end-L 31320GA111 31320GA112 -

2 SU003-R 01271 Tie rod end-R 31320GA102 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

3 SU002 01269 Ball joint 721067003 - -

1 01270 2 01271

3 01269 3 01269



3orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 05706 Stabilizer link 20420CA000 SB00300394 -

2 - 05707 Stabilizer link 20470AJ000 SB00300398 Rear

3 - 05703 Tie rod end-L 34161CA010 SB00300834 -

4 - 05704 Tie rod end-R 34161CA000 SB00300833 -

5 - 05705 Axial joint 34160CA000 SB00300832 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

6 - 05698
Control arm 

complete-L
SB00300355 - -

7 - 05699
Control arm 

complete-R
SB00300354 - -

8 - 05700 Ball joint 20206CA000 SB00300358 -

9 - 05701 Bushing 20204AG011 U00300357 Big

10 - 05702 Bushing 20204CA000 SU00300356 Small

 

      SUBARU
 BRZ (07/2012-->)

1 05706 1 05706

4 05704

7 05699

2 05707 2 05707

5 05705 5 05705

8 05700 8 05700

3 05703

6 05698

9 05701

10 05702



4

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 01277 Stabilizer link 20420AA002 20420AA003 -

2 - 03162 Tie rod end 34141AA042 34141AC010 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

3 - 03163 Axial joint 34140FC000 - -

4 SU005 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

 

      SUBARU
FORESTER (SF/S10) (01/1997-05/2002)

1 01277 1 01277

2 03162 2 031623 03163 3 03163

4 01274 4 01274



5orjinautomotive.com

3 03162

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 SU008 02063 Stabilizer link 20470SA000 - -

2 - 03165 Stabilizer link 20470SA010 - Rear

3 - 03162 Tie rod end 34141AA041 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 03164 Axial joint 34160AE000 - -

5 SU005 01274 Ball joint 21067GA050 - M12x1,25

 

      SUBARU
 FORESTER (SG/S11) (02/2002-11/2007)

1 02063 1 02063

4 03164 4 03164

2 03165 2 03165

5 012745 01274

3 03162



6

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 02063 Stabilizer link 20470FE000 20470SA001 -

2 - 06005 Stabilizer link 20470AJ010 20470SC000 Rear

3 - 03162 Tie rod end 34141AA040 34141AC010 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 06004 Axial joint 34160XA010 - -

5 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

 

      SUBARU
FORESTER (SH/S12) (01/2008-->)

1 02063 1 02063

4 06004 4 06004

2 06005 2 06005

5 012745 01274

3 03162 3 03162



7orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 06005 Stabilizer link 20470AJ010 20470SC000 Rear

2 - 06006 Stabilizer link 20420XA000 - -

3 - 03162 Tie rod end 34141AA040 34141AC010 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 06004 Axial joint 34160XA010 - -

5 - 06007 Axial joint 34160SC020 - -

6 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

 

      SUBARU
FORESTER (SJ) (03/2013-->)

1 06005 1 06005

4 06004 4 06004

2 06006 2 06006

5 06007 5 06007

3 03162

3 03162

3 03162

3 03162

6 01274 6 01274



8

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 SU010 01277 Stabilizer link 20420AA000 20420AA002 -

2 - 03162 Tie rod end 34141AA040 34141AA042 -

3 SU004-L 01272 Tie rod end-L 31320GA200 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 SU004-R 01273 Tie rod end-R 31320GA190 - -

5 - 01512 Axial joint 34140AA040 -
M14x1,5-

M14x1,5-292 mm

6 SU005 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

 

      SUBARU
 IMPREZA (GC-GF) (08/1992-09/2001)

1 01277 1 01277

4 01273

2 03162 2 031625 01512 5 01512

3 01272

6 01274 6 01274



9orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 01277 Stabilizer link 20420AA000 20420AA001 -

2 - 02063 Stabilizer link 20470FE000 20470SA000 -

3 - 03165 Stabilizer link 20470SA010 20470SA011 Rear

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 03162 Tie rod end 34141AA040 34141AA041 -

5 - 01512 Axial joint 34140AA040 -
M14x1,5-

M14x1,5-292 mm

6 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

 

      SUBARU
 IMPREZA (GD-GG) (12/2000-06/2007)

1 01277 1 01277

4 03162 4 03162

2 02063 2 02063

5 01512 5 01512

3 03165 3 03165

6 01274 6 01274



10

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 02063 Stabilizer link 20470FE000 20470SA000 -

2 - 05707 Stabilizer link SB00300398 - Rear

3 - 03162 Tie rod end 34141AA040 34141AA041 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 06015 Axial joint 34160FJ000 - -

5 - 03164 Axial joint 34160AE000 34160AE001 -

6 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

 

      SUBARU
IMPREZA (GP/GJ) (07/2011-->)

1 02063 1 02063

4 06015 4 06015

2 05707 2 05707

5 03164 5 03164

3 03162

3 03162

3 03162

3 03162

6 01274 6 01274



11orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 02063 Stabilizer link 20470FE000 20470SA000 -

2 - 05707 Stabilizer link 20470AJ000 20470FG000 Rear

3 - 03162 Tie rod end 34141AA040 34141AA041 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 03164 Axial joint 34160AE000 34160AE001 -

5 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

 

      SUBARU
 IMPREZA (GR, GV) (10/2007-01/2014)

1 02063 1 02063

4 03164 4 03164

2 05707 2 05707

5 01274 5 01274

3 03162 3 03162



12

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 SU006 01275 Tie rod end 731320020 - -

2 SU001 01268 Axial joint 731310140 -
M12x1,25-

M14x1,5-307 mm

Ref Old
code CODE Description OE – Number OE – Number FEATURES

3 SU007 01276 Ball joint 721067022 - -

 

      SUBARU
 JUSTY I (KAD) (11/1984-08/1996)

1 01275 1 012752 01268 2 01268

3 01276 3 01276



13orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 03173 Stabilizer link 4663060B01 5461850A00 M10x1,5-84,5 mm

2 SZ002 01279 Tie rod end 4881082000 4882060B00 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

3 SU001 01268 Axıal joint  731310140 - -

  

      SUBARU
 JUSTY II (JMA, MS) (10/1995-11/2003)

1 03173 1 03173

2 01279 3 01268 3 01268 2 01279



14

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 03113 Tie rod end 4705716 4881063J00 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

2 - 03114 Axial joint 4883086G00 -
M12x1,25-

M14x1,5-243 mm

 

      SUBARU
 JUSTY III (G3X) (09/2003-->)

1 03113 1 03113
2 03114 2 03114



15orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 05916 Stabilizer link 48821B1020 - Rear

2 - 03359 Stabilizer link-L 48831B1021 48831B1010 M10x1,25-49,5 mm

3 - 03360 Stabilizer link-R 48821B1031 48821B1010 M10x1,25-49,5 mm

4 - 05909 Tie rod end-L 45047B9150 45047B9060 -

5 - 05910 Tie rod end-R 45046B9210 45046B9060 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

6 - 05911 Axial joint 45503B1020 - -

7 - 05912
Control arm 

complete-L
48069B1080 48069B1020 -

8 - 05913
Control arm 

complete-R
48068B1080 48068B1020 -

9 - 05914 Bushing 48654B2010 - Small

10 - 05915 Bushing 48655B1010 - Big

  

      SUBARU
 JUSTY IV (01/2007-->)

1 059161 05916

4 05909

7 05912

2 03359

5 05910

8 05913

3 03360

6 05911 6 05911

9 05914

10 05915



16

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 SU010 01277 Stabilizer link 20420AA004 20420AA001 -

2 SU004-L 01272 Tie rod end-L 31320GA200 - -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

3 SU004-R 01273 Tie rod end-R 31320GA190 - -

4 SU005 01274 Ball joint 21067GA050 20206AJ000 M12x1,25

 

      SUBARU
 LEGACY I (BC) (01/1989-08/1994)

1 01277 1 01277

2 01272 3 01273

4 01274 4 01274



17orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 SU010 01277 Stabilizer link 20420AA004 20420AA002 -

2 - 03162 Tie rod end 34141AA041 34141AA040 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

3 - 01512 Axial joint 34140AA040 -
M14x1,5-

M14x1,5-292 mm

4 SU005 01274 Ball joint 21067GA050 20206AJ000 M12x1,25

  

      SUBARU
 LEGACY II (BD-BG) (01/1994-03/1999)

1 01277 1 01277

2 03162 2 031623 01512 3 01512

4 012744 01274



18

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 01277 Stabilizer link 20420AA000 20420AA002 -

2 - 03168 Stabilizer link 20470AE000 20470AE001
M10x1,25-89,5 mm 

Rear

Ref Old
code CODE Description OE – Number OE – Number FEATURES

3 - 03162 Tie rod end 34141AA040 34141AA041 -

4 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

    

      SUBARU
 LEGACY III (BE-BH) (04/1999-08/2003)

1 01277 1 01277

4 012744 01274

2 03168 2 03168

3 03162 3 03162



19orjinautomotive.com

Ref Old
code CODE Description OE – 

Number OE – Number FEATURES

1 SU008 02063 Stabilizer link 20470FE000 20470SA000 -

2 - 03168 Stabilizer link 20470AE000 20470AE001
M10x1,25-89,5 mm 

Rear

3 - 03162 Tie rod end 34141AA040 34141AA042 -

Ref Old
code CODE Description OE – 

Number OE – Number FEATURES

4 - 03164 Axial joint 34160AE000 34160AE050 -

5 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

     

      SUBARU
 LEGACY IV (B13) (09/2003-->)

1 02063 1 02063

4 03164 4 03164

2 03168 2 03168

5 01274 5 01274

3 03162 3 03162



20

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 05707 Stabilizer link 20470AJ000 20470FG000 Rear

2 - 06016 Stabilizer link 20420AJ000 - -

3 - 03162 Tie rod end 34141AA040 34141AA042 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 03164 Axial joint 34160AE000 34160AE001 -

5 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

    

      SUBARU
 LEGACY V (B14) (09/2009-->)

4 03164 4 031643 03162 3 03162

1 05707 1 05707

2 06016 2 06016

5 01274 5 01274



21orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 06005 Stabilizer link 20470AJ010 20470SC000 Rear

2 - 06006 Stabilizer link 20420XA000 - -

3 - 03162 Tie rod end 34141AA040 34141AA041 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

4 - 03164 Axial joint 34160AE000 34160AE001 -

5 SU005 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

     

      SUBARU
 OUTBACK (BM,BR) (09/2009-->)

1 06005 1 06005

2 06006 2 06006

5 01274 5 01274

4 03164 4 031643 03162 3 03162



22

Ref Old
code CODE Description OE – 

Number OE – Number FEATURES

1 - 02059 Stabilizer link 488200D010 - M12x1,25-360 mm

2 - 04258
Control arm 

complete-L
4806959135 - -

3 - 04259
Control arm 

complete-R
4806859145 - -

4 - 04261
Control arm w/o 

ball joint-R

4806859145 

Part of
- -

Ref Old
code CODE Description OE – 

Number OE – Number FEATURES

5 - 04260
Control arm w/o 

ball joint-L

4806959135 

Part of
- -

6 - 02583 Ball joint
B000770180 

Part of

B000770280 PART 

OF 5
M12x1,25

7 - 04262 Bushing
4865452050 

Part of
- Small

8 - 04263 Bushing
4806959135 

Part of
- Big

     

      SUBARU
TREZIA (NLP_ / NSP_) (03/2011-->)

1 02059 1 02059

7 04262

8 04263

6 02583 6 02583

2 04258 3 04259



23orjinautomotive.com

Ref Old
code CODE Description OE – Number OE – Number FEATURES

1 - 02063 Stabilizer link 20470FE000 20470SA000 -

2 - 06005 Stabilizer link 20470AJ010 20470SC000 Rear

3 - 06006 Stabilizer link 20420XA000 - -

4 - 03162 Tie rod end 34141AA040 34141AA041 -

Ref Old
code CODE Description OE – Number OE – Number FEATURES

5 - 06007 Axial joint 34160SC020 - -

6 - 06004 Axial joint 34160XA010 - -

7 - 01274 Ball joint 20206AJ000 21067GA050 M12x1,25

      

      SUBARU
 XV (12/2011-->)

1 02063 1 02063

4 03162

4 03162

4 03162

4 03162

7 01274 7 01274

2 06005 2 06005

5 06007 5 06007

3 06006 3 06006

6 060046 06004


